Statistics – Problem Set 9

1) In an attempt to compare the starting salaries of college graduates majoring in education and social sciences, random samples of 50 recent college graduates in each major were selected and the following information was obtained:

Major

Mean

SD
Education

35,554

2225

Social Science
33,348

2375

a) Find a point estimate for the difference in the average starting salaries of college students majoring in education and the social sciences. What is the margin of error for your estimate?

b) Based on the results of part a, do you think that there is a significant difference in the means for the two groups in the general population? Explain.

2) Do you think that we should let Radio Shack film a commercial in outer space? The commercialism of our space program is a topic of great interest since Dennis Tito paid $20 million dollars to ride along with the Russians on the space shuttle. In a survey of 500 men and 500 women, 20% of the men and 26% of the women responded that space should remain commercial-free.

a) Construct a 98% confidence interval for the difference in the proportions of men and women who think that space should remain commercial-free.

b) What does it mean to say that you are “98% confident”?

c) Based on the confidence interval in part a, can you conclude that there is a difference in the proportions of men and women who think space should remain commercial-free?

